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Theorem 83.1 (Integral Test Remainder Theorem) If Ry estimates our error after an Nth partial

sum: o0 0o
./N+1f(m)deRNS./N Sf(x)dz

Warning: This was all done assuming that the hypotheses of the integral test were satisfied and the series
converges! If you want to use this remainder estimate, you need to know that the hypotheses of the integral
test are satisfied, and prove that the series is convergent!
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1. Approximate the sum of the series Z s by using the sum of the first 5 terms. Use the integral test

=1
remainder estimate to estimate the er101 involved in this approximation.

2. How many terms are required to ensure the value of the sum is accurate to within 0.00057
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in the ninth decimal place, then we need to add more than 101301 terms!
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Show that if we want to approximate the sum of the series Wso that the error is less than 5 3 \ (o [ —> ~
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